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¥ Answer the following questions:
Q.1. The parallel sides of a trapezium are 25cm and 30cm and its area is
192.5cm>. What is the height of trapezium? (1x5=5)
EImie 2 758,192.5 LU 2 E7 30512 37 25 LS Lot 5003
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Q.2. The area of a parallelogram is 126 cm? and its perpendicular height is
9cm. Find its base. Also calculate its perimeter. (1x5=5)
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¥ Answer the following questions:

Q.1. The parallel sides of a trapezium are 25cm and 30cm and its area is

192.5cm? What is the height of trapezium? (1x5=5)
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Q.2. The area of a parallelogram is 126 cm? and its perpendicular height is
9cm. Find its base. Also calculate its perimeter. (1x5=5)
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